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Studwork width (W) = (2 x Door width (Wp)) + 11mm

Studwork height (H) = Door height (Hp) + 60mm

For double doors: (W) = (4 x (Wp)) - 16mm

For double doors: (H) = (Hp) + 60mm

Door width (Wp) = (Studwork width (W) -11mm) / 2

Door height (Hp) = Studwork height (H) - 60mm

For double doors: (Wp) = ((W) + 16mm) / 4

For double doors: (Hp) = (H) - 60mm

Door width (Wp) = Door opening width (Op) + 23mm

Door height (Hp) = Door opening height (Oh) - 16mm

For double doors: (Wp) = ((Op) + 34mm) / 2

For double doors: (Hp) = (Oh) - 16mm

Door opening width (Op) = Door width (Wp) - 23mm

Door opening height (Oh) = Door height (Hp) + 16mm

For double doors: (Op) = (2 x (Wp)) - 34mm

For double doors: (Oh) = (Hp) + 16mm







  









   










